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Answer Sheet: Enough & Too 2

Choose the correct answer.

Q1 - Shecouldn't sleep because she'd drunk coffee.

I:I enough
I:I too

v/ toomuch
I:I too many

Q2 -1t was without them trying to make things wor se.

v"  hard enough
I:I enough hard
D too much hard

Q3-1'd had of their fighting.

v/ enough
too
I:I too many

Q4-1t's for ustowalk there.

I:I too near

enough near
v" near enough

Q5-1don't like salt in my food.

I:I much too

v toomuch

Q6 - Therewere peoplethere.

D too much
v" toomany
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Q7 - It cost to buy.
I:I too many
v" too much
money enough
Q8 - The government didn't have to passthelaw.

v" enough support
too much support
I:I too support

Q9 - We can use too + noun.
D True Y  False

Q10 - We can use enough + noun.

v True|:| False

Q11 - Wecan use adjective + enough.

v True|:| False
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